Year 1 maths - Summer 1 Week beginning: 4.5.20

Theme Adding equal groups Adding equal groups Making equal rows Making doubles Consolidation
Factual Count or skip count in 2s Count or skip count in 5s Count or skip count in 10s .
flyency (to Start counting from different Start counting from different Start counting from different ggz:: g:ztag:g: :: g: ::gm ;g L—?)% IS 3 lectdoubles, select
aid fluency) | numbers. numbers. numbers.
(Lesson 1 resources below) (Lesson 2 resources below) (Lesson 3 resources below) (Lesson 4 resources below) (Lesson 5 resources below)
MAKING LINKS: MAKING LINKS: MAKING LINKS: MAKING LINKS MAKING LINKS:
Last week we learnt about Inyear 1 we have learnt We have been practicing We learnt about doubles in This week we have added
equal groups. Equal groups different ways to count adding equal groups fo find recepfion. A double is an equal groups, equal rows and
have the same amount in objects efficiently. how many there are exact copy of the same made doubles.
each group. THINK: (support below) atfogether. amount. THINK: (support below)
THINK: (support below) Can you help me with this THINK: (support below) THINK: (support below) Look at the picture.
problem? Can you help me with this e
Can you help me with this problem? Can you help me with this /
problem? My friend has 5 pofts with 2 problem?
counters in each pot. How My friend has some crackers
My friend has equal groups of | many counters are there all arranged in rows on a tray. My friend has 2 apples.
orange pieces. together?e
How many pieces of orange How many crackers do they What happens if they double
! o My friend also has 3 pots with have all together? the amount of apples they
are there in fotal? 6 counters in each pot. How have?2
Problem - : many counters are there in Say how many there are in
activity éf E'ggg?g;jg:\éz ’rgldsdr?fri%krawl'em total2 each row. Use opple; or any other object
the day to solve this problem. .
SEE: (model below) que counters (or use Usg crackers or any other _ . Make three maths stories
objects) and 5 pofts or plates object arranged in the same My friend has 5 strawberries. about equal groups.
SEE model below to solve the problem. way to help you solve this What happens if they double
SEE video problem. 52 Show your understanding in as
Finished?2 Explain what the many ways as you can.
DO: Use what you have leamt most efficient way to count is Finished? Teach someone Use objects to help you solve
— for each problem. about how rows are similar to this problem. Finished? Explain what the
today to solve the problems L .
groups. multiplication sign means to a
below. SEE: (model below) Finished? Use the family member.
SEE model below. SEE: (model below) multiplication sign fo solve this
SEE model below problem. SEE: (model below)
DO: Use what you have learnt SEE video SEE: (model below) SEE model below
Lcﬁc?v{/ o solve the problems Jlrbo_%oli/s;eovzgsfeytzté Z?gglfrggm SEE modiel below DO: Use what you have learnt
) below. DO: Use what you have learnt | today to solve the problems
today to solve the problems below.
below.
Methods, Answers: check the answer | Answers: check the answer Answers: check the answer | Answers: check the answer
tips, clues sheet below sheet below Answers: count to check sheet below sheet below
& checks

See below for resources to support you to THINK-SEE-DO
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https://www.topmarks.co.uk/maths-games/hit-the-button
https://vimeo.com/411455318
https://vimeo.com/411456007

DAY 1 support resources:

) | . There are groups.
[P i = g B w 5 %) % Each group has
i /\ s Neamnd fﬁ) %’ @ koalas.
SEE: support vndeo/ § : % %’ % fours =
O & [ |
R ;
| i ; | There are koalas in
| (2 J 7 total.

[ﬂﬂwﬂﬂﬂ ] There are | groups.

Eﬂ("l {m l'lﬂﬁ 5‘ g , Each group has frains.
. {mysoj 9] |20 Crrrrri :l
SIXes =
| roups ol T |2l
ED ?WCS =120 [ﬂﬂﬂﬂﬂﬂ ] There are trains
alfogether.
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DAY 2 support RESOURCES:

DO:
Fillin the blanks.
'S Y —
v u o'W | |There are groups.
A JEET )
" ———/ |Each group has fennis balls.
29 e | fours =
i ‘_J o ) |There are tennis balls in total.

agroups of 2=8

ee twos =8

There are 8 buttons alfogether.

groups of 5=

] fives =

00000
6 6 b 6 6 There are cherrigs altogether.
group of &
nnnnnn o
There are magnets alfogether.

roups oj 2

5] twos
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DAY 3 RESOURCES:

THINK:

(%]
m
m

SEE video

w

(rackers | row
b lorackers in. Zrows
A ruckersin Srows
2 rckerswn L rows
'S ]irackers in S rows
2 @ 18 cmnkera' n érows
There are [e] rows.

There are [3] - in each row:

o] rows oj 3|8
o] threes 18 il

DO:

Find a group of objects around the house (pasta, toys, Lego,
crayons) or tear some paper into pieces.

Make equal rows of that item.

Talk about the rows.

Example:

FEEE
crxrrxr
Ll
&S

Example: there are 4 rows, there are & pieces of Lego in each
FOWW.

There are 20 pieces of Lego altogether.

Use these sentences:

There are rows of

There are altogether
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DAY 4 support resources:

DO:
e~ -~ [~ -~
t:-r t:-r \:-r \';\
F % F % F %
ey 9 9y
S -
,-"' ) '.\ '.\
OC ALY
® ’
@ 0 o
90 e
Double 3= threes Double & = sixes

What is double 49

What is double 9%

Double 4 =

Draw 4 more and count to | Draw ¢ more and count to
solve the problem.

solve the problem.

Double 9 =
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DAY 5 support resources:

Yod Cant tak @ an

» Elephant

mtheBUS

(2]~ [2] !
There are 2 pdcs of 2 books.

(3] qroups of (L)
g [3] ourps j
|

|

| ooma

| 5@ =

ere are 3 groups ojL Pena
Bl U Lo
2]~ (5] Le]

There are 2 groups oj 3pens.

I
I
I
.

]

DO:
There are groups.
1 N '’ ™ Ty
W w ‘ﬂ' Each group has
|! [ ” crabs.
[ [ '! threes =
\ J \ J |- J | There are crabs
altogether.
There are groups.
@ | o | @ | ||@ .
@ || @< ||| @ @< Each group has fish.
L NE - IE S = fours =
o< ||| @ & =
There are fish in total.

Thers are & cakss.
Eoch caoke has 2 candles.
How many candles are there in all?

Thers are candles in all.

There are § bicycles.

Each bicycle has @ wheels.
How many whesels are there
alfegether?

Thers are wheels in all,
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Day 1 answer sheet Day 2 answer sheet

Fillin the blanks.
There are groups T PP |Thereare 4 | groups.
ye 00

Each group has 4 tennis balls.
4 lfours= |16

Each group has koalas

fours= 20 (99U

o o g v There are 16 tennis balls in total.

céloéiogloél
celoéioelodl
celoéiolodl

There are koalas

groupsof2=8

eeee - twos =8

4

There are 8 buttons altogether.

o
o

WG WM |Thereare groups

Each group has @ frains

5 |groupsof 5= 2§

v e e e e

5 |fives= |25

There are | 25| cherries altogether.

3| sixes= |18

305 205 305 45 B s |There are trains

GGG Ge
66 GGG
¢ee¢ee o
¢6GGG
¢666¢e O

nnnnnn 3 | group of &
NONNNNN [3]skes= 18
nnnnnn

There are 18| magnets altogether.
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Day 4 answer sheet

Day 5 answer sheet

Thers are & cakes,

Each cake hos 3 candles.

How many candles are there in
allg

18

There are candles in all.

Ef} : :‘, E:‘, : :‘, There are |3 | groups.
T R N ' .
Each group has 3
o R e G b (e
O W W |[w
—= = _ " ' 3 |threes = °
ME There are |9 | crabs
altogether.
Double 3 =[7"] threes Dc:-ume6=1_sh-;as Th
ere are | 4 | groups.
@< @< @< @< ek - .
-6 -[13 @< | &< | @< (@< Fochoowne |4 ]
What i double 47 What |5 double 9% O | @< @< W< | 4|fous=[16
@< & @< @&
There are |16 | fish in total.
XTEXIIYT. 5060
Double 4%‘5 || Double 9= |18 g"*—i‘ \_:l‘ G}@@?@@?@@ﬁ@
- L7 v vT vy

There are & bicycles.

Eoch bicycle has 2 wheels,
How many wheels are there
altogether?

There ars wheels in all,




